Algebra 1: Unit 8, lesson 2 Notes: Solving Systems of Equations by Substitution Name:
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o @ Another Look at Trike Warg

Discovering another method to find solutions from yesterday.

Yesterday one of our solutions was hard to see exactly. Which one was that?
Why couldn’t we find the solution exactly?

What was our guess?

What facts do we know about this system?

Any ideas of how we could solve this system another way besides graphing?
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Solving one of the trike wars systems by substitution: Let’s start with one we know the answer to already.
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Algebra 1: Unit 8, lesson 2 Notes: Solving Systems of Equations by Substitution Name:

How close was our guess from yesterday?

Now lets try the one we didn’t know the answer to exactly:

Solve the system of linear equations by substitution. Check your answer and state the type of system.

) y=-3x-3

2yl
j¢ 33 *?.x-ej';?

’Zxé?£;§3)=1

“UK-3~3+ 3

~5x -3 2 3
+3 |+3

CoNSISTenT,
Check:

z=2n - 5 "ZX*&Z'?
3 -3 =3
3:-13@)-3 4e3=13

5@"3 };j.
3*3 v

2) y=2x+3
x=-4
X=—Y Y=2r 43
Y=204)43
==3+3
=-5
~qf5);.

Type:
CoLsIsTERT,  Oadeten®eidT

Check:
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Name:
|3 x-3y=9 4) 5x—3y=22
Cx+4y=2 —dx+y=-19
Type: Type:
Check: Check:

Solving special linear systems by substitution. Check your answer and state the type of system
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Solve the real-world situation by using substitution.

. A
A cable television proviQhas a $55 setup fee and charges $82 per
month. A different cable prgj/ider has $160 setup fee and charges $67 a

(B3

month.

a) Identify your variables. m= ymonths

“TOTAL
(= Qest

b) Write the system of equations that can be used to represent this

situation. bk [%"g B

@;}zzm + 55 f C= 6Fm 40
-

"

c) In how many months will both providers cost the same? What

will the cost be?

-955 -9

&L eIm+10S
—g?m | GIm

\J

[5m= 105
1S (5
M= manthd

d) If you plan to move in 12 months, which provider would be less

expensive? Explain. %(Q + m,mfhs, A A Chuapr.
After 7 monty | B is cheap!™

Ticket out the Door

What do you like about solving a system by the subst;'tution method? What do you dislike?




